



Tên: _____

Ngày tháng: _____ Điểm: _____

$$1^{(-2)} - (-9) =$$

$$8^{(-2)} + (-9) =$$

$$(-2)^{(-1)} - (-10) =$$

$$(-10)^{(-2)} + 4 =$$

$$10^{(-2)} - (-3) =$$

$$(-2)^{(-2)} + 3 =$$

$$(-1)^2 + (-6) =$$

$$1^2 - 7 =$$

$$3^0 + 10 =$$

$$2^{(-2)} - 9 =$$

$$(-6)^{(-2)} + 7 =$$

$$9^{(-1)} + (-5) =$$

$$5^2 - 8 =$$

$$8^2 + 4 =$$

$$(-9)^{(-2)} + (-10) =$$

$$8^{(-2)} - 10 =$$

$$(-8)^2 - (-1) =$$

$$(-1)^2 + 2 =$$

$$(-8)^{(-1)} - (-9) =$$

$$(-3)^{(-2)} + (-10) =$$



Tên: _____

Ngày tháng: _____ Điểm: _____

$$1^{(-2)} - (-9) = 10$$

$$8^{(-2)} + (-9) = \left(-\frac{575}{64}\right) = \left(-8\frac{63}{64}\right)$$

$$(-2)^{(-1)} - (-10) = \frac{19}{2} = 9\frac{1}{2}$$

$$(-10)^{(-2)} + 4 = \frac{401}{100} = 4\frac{1}{100}$$

$$10^{(-2)} - (-3) = \frac{301}{100} = 3\frac{1}{100}$$

$$(-2)^{(-2)} + 3 = \frac{13}{4} = 3\frac{1}{4}$$

$$(-1)^2 + (-6) = (-5)$$

$$1^2 - 7 = (-6)$$

$$3^0 + 10 = 11$$

$$2^{(-2)} - 9 = \left(-\frac{35}{4}\right) = \left(-8\frac{3}{4}\right)$$

$$(-6)^{(-2)} + 7 = \frac{253}{36} = 7\frac{1}{36}$$

$$9^{(-1)} + (-5) = \left(-\frac{44}{9}\right) = \left(-4\frac{8}{9}\right)$$

$$5^2 - 8 = 17$$

$$8^2 + 4 = 68$$

$$(-9)^{(-2)} + (-10) = \left(-\frac{809}{81}\right) = \left(-9\frac{80}{81}\right)$$

$$8^{(-2)} - 10 = \left(-\frac{639}{64}\right) = \left(-9\frac{63}{64}\right)$$

$$(-8)^2 - (-1) = 65$$

$$(-1)^2 + 2 = 3$$

$$(-8)^{(-1)} - (-9) = \frac{71}{8} = 8\frac{7}{8}$$

$$(-3)^{(-2)} + (-10) = \left(-\frac{89}{9}\right) = \left(-9\frac{8}{9}\right)$$